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NEW QUESTION 1

HOTSPOT

You are writing a Java method named safeRoot. The method must meet the following requirements:
Accept two double parameters radicand and index

* If radicand is negative and index is even, retum null

* If radicand is negative and index Is odd, return -Math.pow(-radicand, 1 / index)

e QOtherwise, return Math.pow{radicand, 1 / index)

How should you complete the code? To answer, select the appropriate code segments in the answer area. NOTE: Each correct selection is worth one point.

Answer Area
public static double ssfeRoot{double radicand, double index) {
- | L}.
o tradicand = 0 fand, 1/ index);
[ If (inidex % 2 == 0} |
i
w |
w|dq
raturn null;
¥
a1
return ~Math.pow{-radicand, 1 / index}:
}
'
1
public static double safefoot{double radicand, double index) {
- { h
if fradicand >=0) tand, 1 / index);
iflindex %2 ==0)
H
else if (index % 2 ==0) ] | {
else if (radicand >= 0) - o .
slsa glsa if (index % 2 == 0) m
if [:radicaﬁd = ['|'| 11: gtse if (radicand >= u]
i (index % 2==0) TECMPTESE | | [,
3 if (radicand >= 0)
) if (indax % 2 == 0)
lelse if (index % 2 == 0) 1 B
else if (radicand >= 0) return -Math.pow(-radicand, 1 / index);
alse
it (radicand == () }

if (index % 2 == 0)

A. Mastered
B. Not Mastered

Answer: A
Explanation:
public static double safeRoot(double radicand, double Index) {
- | ﬁ‘
i =0 rand, 1 / index);
if (index % 2 == 0)
¥
eise ¥ (index % 2 ==0) 1 v
if (radicand == 0) -
else f (index % 2==0) |9
if (radicand >= 0) ~ [eleifiadicand >=T] |
if (indax % 2 == 0) return null; o
} i {radicand »>= 0}
if{indax % 2 ==10)
| aise if (index % 2 == 0) | v {
| eise if (radicand >=0) return -Math.pow(-radicand, 1 / index);
' f(radicand >=0) | }

[ (index % 2 == 0)
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NEW QUESTION 2

HOTSPOT

You are writing a Java method.

The method must meet the following requirements:

o Accept a string array named entries

» (terate through entries
» Stop the iteration and return false If any element has more than 10 characters

o Otherwise, return true

Answer Area
public boolean validateEntries(String[] entries) {

boolean allvalidéntries = true;
w+ (String entry w  entries) {
if (entry.length({) > 10) {

allvalidentries = false;

¥

return allvalidEntries;

Angwer Area
public boolean validatefntries(String[] entries) {

boolean alivalidéntries = true;
do v (String entry v entries) {
while if (entry.length() > 18) {

a4
allvalidéntries = false; instanceof

break
} | continue b

}

return allvalidEntries;

A. Mastered
B. Not Mastered

Answer: A
Explanation:
Answer Area

public boalean validateEntrles(String[] entrias) {

boclean allvalidEntries = true;

do w ! [String entry w | entries) |
([for ]
while §f (entry.lengthl) * 18 {
sllvalidEntries = false; instanceof
v
braak '
] canhinues: h

3

return alivelidEntries;

NEW QUESTION 3

HOTSPOT

You work for Woodgrove Bank as a Java programmer.

You need to evaluate the following class. Line numbers are included for reference only.
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@1 public class Account {
02 protected int balance;
@3 public Account{) {

a4 balance = @;

o5 }

86 public Account{int amount) {
a7 balance = amount;

88 1}

es }

For each of the following statements, select Yes if the statement is true. Otherwise, select No.
&

[ B B N N
Arnswer Area
Yes Mo
The aceount class has a single constructor.
Onher classes can inherit the account class.
Line 07 is eguivalent 10 this. balance = amount;
A. Mastered
B. Not Mastered
Answer: A
Explanation:
aseew
Arswer Area
Yes No
The aceount class has a single constructor. I:l
Cher classes can inherit the Account Class. D
Line 07 5 equivalent to this balance = amount; D

NEW QUESTION 4
HOTSPOT
You have the following code segment. Line numbers are included for reference only.

81 public class Customer

@z {

B3 private int id = 3;

B4 public static void main(String[] args)
@5 {

B Customer customer = new Customer();
a7 id = 5;

es showId{);

ag 1

ia

11 protected void showId()

12 I

i3 System.out.println{id);

14 :

15 }

The code does not compile.
For each of the following statements, select Yes if the action is required to resolve the compilation error. Otherwise, select No.
NOTE: Each correct selection is worth one point.

Answer Area
Yes Mo
Change the access modifier of the vanable §d 10 public
Change the access modifier of the shewId method 10 gublic.
Cn lines 07 and 08, add the prefic custemsr. 10 4d 20 showdd ().
A. Mastered

B. Not Mastered
Answer: A

Explanation:
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Answer Area
Yes Mo
Change the access modifier of the vanable 54 10 public. |_|
Change the access modifier of the shewld method 10 public. D
On lines 07 and 08, 2dd the prefix custemer. 10 £d and showId( ). m

NEW QUESTION 5
DRAG DROP

You have a Java class named insurancePolicy.
You need to define a constant data member named rate. The data member must be accessible by any class without instantiating the insurancePolicy class.

How should you complete the code? To answer, drag the appropriate code segment to the correct position. Each code segment may be used once, more than
once, or not at all. You may need to drag the split bar between panes or scroll to view content.

Code Segments

firsl Fimally
privete protected

pobiic ptatic

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Code Segments

| firal I finally

§ private | protectes
{

[.—.\.,-tl'.-r !I:t-flr |

[-:':-:cr 'l Flu—]

NEW QUESTION 6

This question requires that you evaluate the underlined text to determine if it is correct. You have the following class definition:

class Logger

1

public woid logError{5tring message)

{

A. No change is needed.

B. only by the Logger class.

Answer Anca

public £lags IsiurancePalicy

double BATE - @@y

FuBlle £ladd IRdufisdaPallly

{

final ]

C. only by the Logger class and classes in the same package that inherit from it.

D. by all classes in all packages.

Answer: C

NEW QUESTION 7
HOTSPOT

You are writing a Java class named savings Account. The class must meet the following requirements:

* |nherit from an existing class named Account

¢ Include a constructor that uses the base class constructor to initialize the starting balance

¢ Include a substitute tostring() method

How should you complete the code? To answer select the appropriate code segments in the answer area.

The Leader of IT Certification

i privete l’g'—"“‘ double RATE = .9E43;

visit - https://www.certleader.com



CertLeaderw 100% Valid and Newest Version 98-388 Questions & Answers shared by Certleader

Toader of IT Cortifications https://www.certleader.com/98-388-dumps.html (44 Q&AS)

public clags Savingriccouat *  dsgount |
double rote = 0.02;
prtendy
eyl oih]
iFgilemesdy
Savingsiccount(dovble startingBalance] { h

w (startingalance);
AL mird
trteg
cariliuEls
super

Glimplermaents
finpect
@ Cvartgad
G Override
pobllic String toString() {
return Striag. format{“Savings Current Balsmce: SN.27°, this.getBalance()):

A. Mastered
B. Not Mastered

Answer: A
Explanation:
public closs Savingsiccount ¥ Account |
double rate = D.02;
gutends
3251 ' L'i
Savingsdccosnt{double startingBalance) { E}
= (startingSalance};
'
! base
construchor
Buper
-

public Sering toString() {

retorn String. format|"Savings Current Balaonce: $%.2f", thiz.getfalance(}):
L]
,

NEW QUESTION 8

HOTSPOT

You write the following Java program for Munson's Pickles and Preserves Farm. Line numbers are included for reference only.
el class Pickle {

g2 boolean i=Pressrved = Talse;
€3 private boolean isCreated = false;

a4

85 wvoid preserve(} {

86 izPreservaed = trus;

87 1

28

8%  public static wvoid main{5tring[] args)
1@

11 Pickle pickle = new pickle(};
iz izsCreated = trus;

13 pickle.preserve;

14 1

15 }

You encounter error messages when you attempt to compile the program. You need to ensure the program compiles successfully.
How should you complete the code? To answer, select the appropriate code segments in the answer area.
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class Pickle {
boolean isPreserved = false;
private boolean isCreated = false;

void preserve() {
isPreserved = trug;
¥

public static vold main(String[] args)
i

Pickle pickle = new pickle();
Puckle pickle = naw Picklad);
pickle Fickle = new Pickle();

pickle Pickle = new pickle();

(4

ECnaied = s
Pickle isCreated = trug:
| plckle sCreatad = trus

3 | plckle prasarve
3 pickle prasare()
Plckle preserve:
| Pickle praserval)

A. Mastered
B. Not Mastered

Answer: A

Explanation:

class Pickle {
boolean isPreserved = false;
private boolean isCreated = false;

void preserve() {
isPreserved = trug;
i

public static vold main{String[] args)

{

Pickle pickle = new Bickled):
pickle Fickle = new Pickle();
pickle Pickle = new pickle(;

Pickle isCreated = true;
AR ES R .

3 [[pickaprearve, |
} pickle presarve )
Plckle preserve:
| Pickla praserval)

NEW QUESTION 9

HOTSPOT

You are creating a method that processes invoices. The invoices are contained in an AmayList instance. After each invoice is processed, the method must remove
the invoice from the ArrayList instance.

How should you complete the code? To answer, select the appropriate code segments in the answer area.

NOTE: Each correct selection is worth one point.

public static vold Process{drraylistcSerings fnvodces)
I

for (int I = w [ i < involces. v -
® | size) )
L] | sl I=1+1)
sizel] + 1

String invoice = favelesg. gatii);
£ TODO: Process the lnveice
involces. remove(l);
i |
}
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A. Mastered
B. Not Mastered

Answer: A

Explanation:

public static vold Process(drraylisteStrings Imiolees)
[

for (int § = i__;_:j; { « invalces. v | -

i i .,

P! AT

Sering invelce = Snvolces.gee(i);
fi TODG: Process the lavelce
Involces.remove(l);

NEW QUESTION 10
HOTSPOT
You are writing a Java method.

The method accepts a two-dimensional string array and prints the content of each array element. The size of each dimension of the array might be different.

How should you complete the code? To answer, select the appropriate code segments in the answer area.

NOTE: Each correct selection is worth one point.

publie vold traverss( w board)
: String
' string(]

string(lll

far [int x = B; = < w ] M)
board length

board(] length
‘board[][] length

for (int vy = @) y < wooyes)
board length
board{x] length
board]y] length

System.out.printlef |35
} | boardfx]
board[y]
boardfx[y]
A. Mastered

B. Not Mastered
Answer: A

Explanation:

publie vold traverse( w boasrd)

String (1}

for [int o = @&; » < w7 Mes)
board tengt
boardf] lengt
(board(]] Jength |

far (int vy = @83 y < L)

‘board leng
[ boardfx] length
boardfy length

System.out.printlne] W

} | | boardix] |' |

board]y]
boardpx]lv]

NEW QUESTION 10
HOTSPOT

You are developing a Java program to play Tic-Tac-Toe. You define the following array to store the state of the board:
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char[]f] grid

-
{1=","

¥

Use the drop-down menus to select the answer choice that answers each question based on the information presented in the code.

Whach array element contains an "x"7

Which array element contains an o7

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Which array element contains an “x'7

Which array element contains an "o" 7

NEW QUESTION 15
HOTSPOT

-
gred[Of[2]
gnd] 1§{3]
grd{Zi]
grai 3]

gridT]i2]
grid2]{1]
gridiZ][3)
orid{3}(2]

0 |'.d L1
andi2}l0]
graf3it]

grd{jz]
grd2] 1]
gidi21()

You are creating a method that converts a string representation of a number into an actual number. The numbers passed into the method include whole numbers

and fractional numbers.

How should you complete the code? To answer, select the appropriate code segments in the answer area.

public vold eanvertitringTolusber|String nusberdiftring]

I—'}} rumbar =

deuble | Double

Infeger i double

Stri Intigar
= String

System.out .printls{neeber )

A. Mastered
B. Not Mastered

Answer: A

Explanation:

farmat
parseloubla
parseind

public vold convertStringToNusber|String nosberdaftring])

{

|—'Lr} munber =

"double b

IﬂTﬁ-ﬂ (]

System.out.println{noeber};

NEW QUESTION 19
DRAG DROP

Intgar
String

faimat

You attend an interview for a job as a Java programmer.

The Leader of IT Certification
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You need to declare a two by three array of the double type with initial values.
How should you complete the code? To answer, drag the appropriate code segment to the correct location. Each code segment may be used once, more than
once, or not at all. You may need to drag the split bar between panes or scroll to view content.

Code Segrments Angwer Ares

il 11: I 85
doukle[ ][] maxdrray = 8.77,3.4,.55 2.2,:045,2

H Fad 1l

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Fer | e Al a1
i) Ir (8 | B3 T
| L | |L il dauble[ ][] manhrray = !-l Ie.rr.s.a.ﬁ z.z..n-'-s,z E

NEW QUESTION 20
You have the following code segment. Line numbers are included for reference only.

81 public static woid main{String[] args)
B2 I

23 douhle number = 27;

2 numher %= -3d;

25 number += 18f;

2a numher *= -4;

87  System.out.println{number);

B3 }

What is the output of line 0772

-44
.-40.0
.40.0
.44.0

o0 w>

Answer: A

NEW QUESTION 25
You need to evaluate the following code segment:

double dhum = 2.667;
int iNum = @}
iNum = {int)dNum;

What happens when the code segment is run?

A. iNum has a value of 0.
B. An exception is thrown.
C. iNum has a value of 2.
D. iNum has a value of 3.

Answer: B

NEW QUESTION 28
DRAG DROP
You are writing a Java method.
The method must meet the following requirements:
» Accept a string parameter firsthame
» Display a welcome message that contains firstName
« Ensure that the first letter of the name is capitalized, and the remaining letters are in lowercase.

How should you complete the code? To answer, drag the appropriate code segment to the correct position. Each code segment may be used once, more than
once, or not at all. You may need to drag the split bar between panes or scroll to view content.
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Cede Segments Angwer Ares
Charat Taistring public Steisg showbresting{itring flrstisse)
!':"..Cl.l'l':l!'l E'Di-'ppi.":l.l.r |
trelng weleoneiag = “weleoss, )
wilinmettag 4= Tlritlase, (LR
Flrstiians, {1},
FELUFR wElioheMig]
3
A. Mastered

B. Not Mastered

Answer: A

Explanation:

Code Sogmentd

'| foreres ” [ECTTE e J
[tal..:lu.rvl:l.n ||'.d.rpp-|-'€11-l

NEW QUESTION 32
HOTSPOT

Andwer Area
bl STeisg shawbresning{Striag Tlrstusss)

i

Stiring selcwssfisg = “uelooms, =)

Y
g loomtag 4= ﬂl‘“"”l talppariain |Il!l. LII iubstring

flrarisns

harn ||:J-|. naieardate

FeTern e dComeis gl

You are interviewing for a job as a Java developer. You are presented with the following code. Line numbers are included for reference only.

&1 char datal = 65;

82 System.out.println(datal);

a3

&4 long data2 = &5;

85 System.ocut.println(dats2);

pe

87 float datald = new Float{"-£5.8");
85 System.out.printlnidatai);

a9

1@ short datad = mew Short{"&65.8");
11 System.out.println{datad};

You need to evaluate what happens when the

code runs.

Use the drop-down menus to select the answer choice that answers each question based on the information presented in the code.
NOTE: Each correct selection is worth one point.

What happens whien Lres 007 and 02 e run?

What happens when ines 04 and 05 are run?

What happens when lnes 07 and 08 are run?

What happens when lines 10 and 71 &re run?

A. Mastered
B. Not Mastered

Answer: A

The Leader of IT Certification

The number 5§35 is displayed
The lettar ‘&' 15 desplaped.
An !_-h.tﬂ'!llt_'!!h i tRfoAT

The number &5 is displayed
Tha number 650 Is dizplayed
An exedaption is thrown

Tha number 55 {5 displayad.
The number -85 0 &5 diaplayed,
An excaption |s Hrovm

The numbar 55 s displayed
The numbsr 65 0 i displayed
An excapiion is thrown.
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Explanation:

What happens whien Lres 007 and 02 e run?

What happens when ines 04 and 05 are run?

What happens when lnes 07 and 08 are run?

What happens when lines 10 and 71 &re run?

NEW QUESTION 36

You need to analyze the following code segment. Line numbers are included for reference only.

81 public wvoid printInt()

82 {

83 it {true) {

@ int num = %;

85 it (num > @) {

B PR+

87 1

a3 T

a9 int num = 13

1@ addOne {num) ;

11 num = Aaum - 1;

12 System.out.println{num);
13 }

14

15 public wvoid addOne{int mum)
16 {

17 num = num + 1;

18 }

The number 5§35 is displayed
The lettar ‘&' 1= desplayed
An u_-m; Ehllﬂ!l‘l i tRfoAT

The number &5 is displayed
Tha number 650 Is dizplayed
An exedaption is thrown

Tha number 55 {5 displayad.

The number -85 0 & dsplayed.
An excepiian Is theown

The numbar 55 s displayed
The numbsr 65 0 i displayed
An excepiion is thrown

What is the output of line 12 when you run printint()? A.0

Ow>
w N R

Answer: A

NEW QUESTION 38
HOTSPOT

You are writing a Java console program. The program accepts command line arguments.
You need to ensure that the main method parses and handles each command line argument

How should you complete the code? To answer, select the appropriate code segments in the answer area.

public static void sain( 5'_

= ‘i":_l BTES )

i Arraylest
L Stnng
| Stringl]

for (int 1 = 0; § <
args{l)
args{0]
args length
args length - 1
{ args fength + 1

handledrgument |

args{i]

} args{0]
args charAi(i)

(o]

A. Mastered
B. Not Mastered

The Leader of IT Certification
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Answer: A

Explanation:

public static vold sain{ |

w |args)

»
i

) Arraylsst
i _Stnng
| Stnngl

for (int 1 = B; § <
argsfi]
Largeil] |
args fength
args. bergth - 1
{ args length + 1

handleAr gusent i

Larasin |

! args{0]
args charAa(i)

b

NEW QUESTION 43
DRAG DROP

You are interviewing for a job at Adventure Works, Inc. The hiring manager asks you to create a simple console program.

w L)

hH

The program takes multiple arguments from the command line and writes them to the screen in the same order as they were typed on the command line.
Which three code segments should you use to develop the solution? To answer, move the appropriate code segments from the list of code segments to the

answer area and arrange them in the correct order.

Code Segments

poblic static wald maln{ifirdag arpeanis} |
for {ink d = &) £ 4 wrgs.length; les) |

Sritemceet.printinfargali)):

for (Ant 1 = §j L 4= IAGdgec.gatialat{arga[@]); Lae)
Fisten.awt. printinfarguments] 11
X
peblic ptetlc vald mebn(foedagi] srge) [

for (lat L = 8 L 4 irgesdati.lisgth] Llas) |

A. Mastered
B. Not Mastered

Answer: A
Explanation:

Cade Segments

Iplu‘.l.!r. wintie vold main{string arguesnts] o

i for (Int-d = 8 L < srgn, Jengthy Ses) |

| Systes, oot printinfargeli}1

| for {ink d = 51 | = Inteper-parselnilorgs|8]}; 1o+ | J

‘ System et printindargesentsl [

IPH'!'H-: stetic vald ssls[Stedag[] 4rgs) | |

| for (int 1 = & | @ &Fpembeti.lingthy 1ed) {

NEW QUESTION 44

The Leader of IT Certification

Anvwer Aroa

Spitem.sub.prlatlalargi[1]);

!
b ¥

pultlle stetle wold ssls]Svrisgl] srge) {

"

—

= For [imt L = @) &4 argi.lengeh; Les) [

Q)
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